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Unit‘One.- |

Part A Reading Skill: Introduction to Reading

1. Reading is related to a reader’s schemata.

Schema represents your knowledge about a topic or a specific thing. Your schemata about
various topics and things are directly linked to your reading comprehension. The more schemata
you have in your mind, the better comprehension you will get. -

. Reading is a thinking process with comprehension. -
Reading is an active process which involves the interaction between the reader and the print
(the writer) . Without thinking and comprehension, it is not reading but word-calling.'
. Reading efficiency stands for the accomplishment of a reading task with an appropriate
time frame and with appropriate comprehension. :

Efficient reading involves adequate comprehension with appropriate reading rate. In order
to increase your reading efficiency, you need to develop skills that will help you read with
comprehension and read faster. o
. Reading flexibility means the ability to adjust the reading rate and methods to suit the type
of the material to be read and the purpose for reading. -

. To be an efficient and flexible reader, you should:

¢ Enlarge your schemata about various topics and things, which will help you comprehend
reading materials.

e Improve your language knowledge (vocabulary and grammar) , which can help you read
both fast and with high comprehension. '

o Be familiar with writing skills and apply various reading skills. These skills will not only
help you read with comprehension and retention, but enable you to use your time most
economically as well. ' \

Part B Multiple-choice

Choose the best answer to complete the following statements'according to the passage.

Passage 1.1

‘Probably the most fundamental concepts in economics, supply and demand make up the



backbone of market economies. Demand refers to how much (quantity) of a product or service is
desired by buyers. The quantity demanded is the amount of a certain product people are willing to
buy at a certain price, and the relationship between price and quantity demanded is known as the
demand relationship. Supply represents how much the market can offer. The quantity supplied refers
to the amount of a certain good producers are Wwilling to supply when receiving a certain price. The
correlation between price and how much of a good or service is supplied into the market is known as
the supply relationship. Price therefore, is a reflection of supply and demand.

The relationship between demand and supply underlies the forces behind the allocation of
resources. In market-economy theories, demand and supply theory will allocate, resources in the most
efficient way possible. How? Let us take a closer look at the law of demand and the law of supply

The law of demand states that, if all other factors remain equal, the higher the price, the fewer
people will demand a good. In other words, the higher the price, the lower the quantity demanded.
The amount buyers purchase at a higher price is less hecause, as the price of a good goes up, so does
the opportunity cost of buying that good: people will naturally avoid buying a product that will force
them to forgo the consumption of something else they value more.

Like the law of demand, the law of supply demonstrates the quantities that will be sold at a
certain price. Opposite to the demand relationship, the supply relationship shows an upward slope.
This means that the higher.the price, the higher the quantity supplied.:Producers supply more at a
higher price because selling a higher quantity at a higher price offers greater revenues,

Unlike the demand relationship, however, the supply relationship is a factor of time. Time is
important to supply because suppliers must, but cannot always, react quickly to a change in demand
or price. So it is important to try and determine whether a price change caused by demand will be
temporary or more permanent. :

Let’s say there’s a sudden increase in the demandand price for umbrellas in an unexpected rainy
season; suppliers may simply accommodate demand by using their production equipment more
intensively. If, however, there is a climate change, and the population will need umbrellas year-round,
the change in demand and price will be expected to be more long term; suppliers will have to change
their equipment and production facilities in order to meet the long-term levels of demand.

Now that we know the laws of supply and demand, let’s turn to an example to show how supply
and demand affect price.

Imagine that a special edition CD of your favorite band is released for $20. Because the record
company’s previous analysis showed that consumers will not demand CDs at a price higher than $20,
only ten CDs were released because the opportunity cost is too high for suppliers to produce more. If,
however, the ten CDs are demanded by 20 people, the price will subsequently rise because, according
to the demand relationship, as demand increases, so does the price. Consequently, the rise in price
should prompt more CDs to be supplied as the supply relationship shows that the higher the price, the
higher the quantity supplied.

If, however, there are 30 CDs produced and demand is still at 20, the price will not be pushed up
because the supply more than accommodates demand. In fact after the 20 consumers have been
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satisfied with their CD purchases, the price of the leftover CDs may drop as CD producers attempt to
sell the remaining ten CDs. The lower price will then make the CD more available to people who had
previously decided that the opportunity cost of buying the CD at $20 was too high.

When supply and demand are equal (i.e. when the supply function and demand function
intersect), the economy is said to be in equilibrium. At this point, the allocation of goods is at its most
efficiency because the amount of goods being supplied is exactly the same as the amount of goods
being demanded. Thus, everyone (individuals, firms, or countries) is satisfied with the current
economic condition. At the given price, suppliers are selling all the goods that they have produced
and consumers are getting all the goods that they are demanding.

In the real market place equilibrium can only ever be reached in theory, so the prices of goods
and services are constantly changing in relation to fluctuations in demand and supply.

1. According to the passage, the equilibrium price is the price at which
A. the quantity supplied equals the quantity demanded
B. the buyers wish to purchase
C. the suppliers wish to sell
D. all of the above
2. In the market of chocolate, other things equal, the lower the price of chocolates, the higher the
quantity demanded. is (are) the example (s) of “other things” in the phrase “other
things equal”.
A. A campaign by dentists, warning of the effect of chocolate on tooth decay
B. A fall in household incomes
C. Cheaper coca beans
D. All of the above
3. Demand is
A. aparticular quantity
B. a full description of the quantity of goods buyers would purchase at each possible price
C. a particular quantity at a particular price
D. none of the above
4. The correlation between and is termed the supply relationship.

A. price / quantity of a good to be supplied into the market
B. price / how much of a good to be demanded
C. the quantity supplied / the amount of a certain good producers
D. all of the above
5. The following statements are true except that
A. like the law of supply, the law of demand is a factor of time
B. the law of supply states that the higher the price, the higher the quantity supplied
C. the supply relationship is represented by a upward slope
D. the price is a reflection of supply and demand



New Words and Expressions

supply and demand VST B
market economy WHE 5t
quantity demanded k&
demand relationship FRKR
quantity supplied A
correlation AR
supply relationship IVEEA
opportunity cost IR
law of demand ki
law of supply (INA7
equilibrium LSl
Passage 1.2

In order to begin our discussion of economics, we need first to understand (1) the concept of
scarcity and (2) the two branches of study within economics: microeconomics and macroeconomics.

Scarcity refers to the tension between our limited resources and our unlimited wants and needs.
For an individual, resources include time, money, and skill. For a country, limited resources include
natural resources, capital, labor force, and technology.

Because all our resources are limited in comparison to all our wants and needs, individuals and
nations have to make decisions regarding what kind of goods and services they can buy and which
ones they must forgo. For example, if you chose to buy one DVD as opposed to two video tapes, you
must give up owning a second movie of inferior technology in exchange for the better-quality of the
one DVD. Of course, each individual’s and nation’s values are different, but people and nations, each
having different levels of (scarce) resources, form some of their values only because they must deal
with the problem of scarcity.

So because of scarcity, people and economies must make decisions over how to allocate their
resources. Economics, in turn, aims to study why we make these decisions and how we allocate our
resources most efficiently.

Macro and microeconomics are the two vantage points from which the economy is observed.
Macroeconomics looks at the total output of a nation and the way the nation allocates its limited
resources of land, labor, and capital in an attempt to maximize production levels and promote trade
and growth for future generations. After observing the society as a whole, Adam Smith noted.that
there was an “invisible hand” turning the wheels of the economy, a market force that keeps the
economy functioning,

Microeconomics looks into similar issues but on the level of the individual people and firms
within the economy. It tends to be more scientific in its approach, and studies the parts that make up
the whole economy. Analyzing certain aspects of human behavior, microeconomics shows us how
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individuals and firms respond to changes in price and why they demand and what they do at
particular price levels. :

Micro and macroeconomics are intertwined, so as economists gain understanding of certain
phenomena, they can help nations and individuals make more-informed decisions when allocating
resources. The systems by which nations allocate their resources can be placed on a spectrum where
the command economy is on one end and market economy is on the other. The market economy
advocates forces within a_competitive market, which constitute the “invisible hand”, to determine
how resources should be allocated. The command economic system relies on the government to
decide how the country’s resources would best be allocated. In both systems, however, scarcity and
unlimited wants force governments and individuals to decide how best to manage resources and
allocate them in the most efficient way possible. However, there are always limits to what the
economy and government can do.

6. According to the passage, the phrase “limited resources” in Paragraph 1.2 refers to *
A. labor force and technology B. natural resources
C. capital D. all of the above
7. The phrase “invisible hand” mentioned by Adam Smith means “ >
" A. the government planning office’s decision over what, how, and for whom to produce
B. a nation’s value of scarcity
C. a market force which keeps the economy functioning
D. the market economy '
8. Which of the following statements refers to microeconomics?
A Inflation is lower than in the 1990’s
B. Food prices fell last month
C. Income is higher in the UK than in Poland
D. Unemployment in London is below the UK average
9. The following statements on scarcity are true except that
A. the needs and wants of an individual or society exceed the resources available
B. inthe presence of scarcity, resources must be allocated in some way , either through price or
through central distribution system
C. scarcity is present only in the command economy
D. in the absence of scarcity, no prices need to be attached to anything
10.  Which of the following statements is not true?
A. In a command economy, decisions on what, how, and for whom are made in a central
planning office
B. Macroeconomics offers a detailed analysis of particular activities in the economy
C. According to Adam Smith, the market economy would allocate resources by the “invisible
hand”
D. Economics is the study of how society decides what, how, and for whom to produce



New Words and Expressions

scarcity Mt
microeconomics M 28 5 2
macroeconomics FEMREGT#
labor force BN
allocate resources 5B PR
vantage M, E
Adam Smith W2
invisible hand EARKF
intertwine ST —itd, {Fgss
command economy THRIZ 5
market economy WHE G
Passage 1.3

The degree to which a demand or supply curve reacts to a change in price is the curve’s elasticity.
Elasticity varies among products because some may be more essential to the consumer. Products that
are necessities are more insensitive to price changes because consumers would continue buying these
products despite price increases. Conversely, a price increase of a good or service that is considered
less of a necessity will deter more consumers because the opportunity cost of buying the product will
become too high.

A good or service is considered to be highly elastic if a slight change in price leads to a sharp
change in the quantity demanded or supplied. Usually these kinds of products are readily available in
the market and a person may not necessarily need them in his or her daily life. On the other hand, an
inelastic good or service is one whose changes in price witness only modest changes in the quantity
demanded or supplied, if any at all. These goods tend to be things that are more of a necessity to the
consumer in his or her daily life.

To determine the elasticity of the supply or demand curves, we can use this simple equation:

Elasticity = (% change in quantity / % change in price )

If elasticity is greater than or equal to 1, the curve is considered to be elastic. If it is less than 1,
the curve is said to be inelastic.

As we mentioned previously, the demand curve is a negative slope, and, if there is a large
decrease in the quantity demanded with a small increase in price, the demand curve looks flatter, or
more horizontal. This flatter curve means that the good or service in question is elastic.

Meanwhile, inelastic demand is represented with a much more upright curve as quantity
changes little with a large movement in price.

Elasticity of supply works similarly. If a change in price results in a big change in the amount
supplied, the supply curve appears flatter and is considered elastic. Elasticity in this case would be
greater than or equal to 1.
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On the other hand, if a big change in price only results in a minor change in the quantity supplied,
the supply curve is steeper, and its elasticity would be less than one.

There are three main factors that influence a demand’s price elasticity:

The availability of substitutes—This is probably the most important factor influencing the
elasticity of a good or service. In general, the more substitutes, the more elastic the demand will be.
For example, if the price of a cup of coffee went up by $0.25, consumers could replace their morning
caffeine with a cup of tea. This means that coffee is an elastic good because a raise in price will cause
a large decrease in demand as consumers start buying more tea instead of coffee.

However if the price of caffeine were to go up as a whole, we would probably see little change in
the consumption of coffee or tea because there are few substitutes for caffeine. Most people are not
willing to give up their morning cup of caffeine no matter what the price. We would thus say that
caffeine is an inelastic product because of its lack of substitutes. Thus, while a product within an
industry is elastic due to the availability of substitutes, the industry itself tends to be inelastic. Usually,
unique goods such as diamonds are inelastic because they have few if any substitutes.

Amount of income available to spend on the good—This factor affecting demand elasticity
refers to the total a person can spend on a particular good or service. Thus, if the price of a can of coke
goes up from $0.50 to $1.00 and income stays the same, the income that is available to spend on coke,
which is $2.00, is now enough for only two rather than four cans of coke. In other words, the
consumer is forced to reduce his or her demand of coke. Thus if there is an increase in price and no
change in the amount of income available to spend on the good, there will be an elastic reaction in
demand: demand will be sensitive to a change in price if there is no change in income.

Time—The third influential factor is time. If the price of cigarettes goes up $2.00 per pack, a
smoker, with very little available substitutes, will most likely continue buying his or her daily
cigarettes. This means that tobacco is inelastic because the change in the quantity demand will have
been minor with a change in price. However, if that smoker finds that he or she cannot afford to spend
the extra $2 pef day and begins to kick the habit over a period of time, the price elasticity of cigarettes
for that consumer becomes elastic in the long run.

11. A good is considered to be inelastic if a slight change in price results in
A. asharp change in the quantity demanded
B. asharp change in the quantity supplied
C. alittle change in the quantity demanded or supplied
D. none of the above

12. The word “elasticity” means “
A. change in the price
B. a measure of sensitivity of one variable to another
C. detailed information
D. none of the above

13. According to the passage, an inelastic demand is represented with as there is no change
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